### Historic, archived document

Do not assume content reflects current scientific knowledge, policies, or practices.



## Berry Plants

Our Specialty

Our Plants Are Grown On Our Fruit Farm

Wholesale

## PRICE LIST

For the Trade Only For

Fall of 1938 and Spring of 1939

# Briggs Fruit Farm and Nursery

Route 2, Box 50

Olympia, Washington

#### TERMS AND CONDITIONS OF SALE

TERMS—Cash or satisfactory references before shipment. To established nurserymen who are known or can give satisfactory references, 30 days from date of invoice. If paid within 10 days, 2% discount will be allowed.

### FOR CASH WITH ORDER, 5% DISCOUNT

PRICES—Prices are F.O.B. Olympia, boxing and packing at cost, and are as low as is consistent with the quality of our stock.

CLAIMS—No claims for errors or discount will be allowed unless made within 10 days after receipt of goods.

50 plants of a variety at 100 rate; 500 at 1000 rate. This cancels all previous quotations.

GUARANTEE OF GENUINENESS—Our plants are grown on our own fruit farm, and every care and precaution is taken to have them true to name; still with all caution exercised, mistakes are liable to occur, but we hold ourselves in readiness upon proper proof, to replace all plants and other stock that may prove untrue to label, free of charge or to refund the amount paid. However, it is mutually understood and agreed to between the purchaser and ourselves, that our Guarantee of Genuineness shall in no case make us liable for any sum greater than that originally paid us for plants, etc., that may prove untrue.

All Raspberry and Black Cap plants free from Mosaic. Field inspection by State Inspector.

On account of this being a very dry season without much moisture, the growing conditions are very poor and as yet, we cannot state what quantity of plants we will have to offer. Place your order early as heavy grades will be very short.

### STRAWBERRIES

SIRAWBER	RIES		
		100	1000
Marshall		65	4.00
Improved Marshall		65	4.00
New Oregon		65	4.00
Improved New Oregon			4.00
New Washington			4.00
Gold Dollar			4.00
Improved Magoon			4.00
Clark's Seedling			4.00
King			4.00
Corvallis			4.00
Banner			4.00
Oregon Plum			4.00
Dorsett			4.00
Fairfax			4.00
Red Heart			4.00
			1.00
EVEDDE ADING OTD	4 WD = D	0150	
EVERBEARING STR	AWBER		
		100	1000
Progressive			8.00
Gem		1.00	8.00
Mastodon		1.00	8.00
Rockhill		5.00	
RASPBERR	IES		
	10	100	1000
Chief—Trans.		$\frac{100}{4.00}$	35.00
Cuthbert—Trans.		1.50	12.50
Cuthbert—Suckers		$\begin{array}{c} 1.00 \\ 2.50 \end{array}$	7.50
Latham—Trans.			20.00
Lloyd George—Trans.	.40	2.50	20.00
Lloyd George—Suckers		1.25	10.00
Newberg—Trans.		4.00	35.00
Golden Queen—Trans	.50	4.00	
EVERBEARING RAS	SPBERF	RIES	
	10	100	1000
St. Regis—Suckers	.35	2.50	20.00
St. Regis—Trans.		$\frac{2.30}{4.00}$	35.00
St. Itegis—ITans	.00	4.00	30.00
BLACKCAI	PS		
	10	100	1000
Kansas—Trans.	.50	4.00	35.00
Munger—Trans.	.50	4.00	35.00
Cumberland—Trans.		4.00	35.00
LOCANDED	DV		
LOGANBER		100	1000
	10	100	1000
Transplants		$\boldsymbol{6.00}$	50.00
Tips or Suckers	.50	3.25	30.00
YOUNGBER	RY		
.00/(052)		100	1000
The man length	<b>10</b>	100	
Transplants		5.00	40.00
Suckers	.50	2.50	20.00
BOYSENBER	RRY		
		100	1000
Transplants		7.50	60.00
Tips		4.00	35.00
11h9	•00	<b>T.UU</b>	00.00

BLACKBERRIES		81	100
		100	1000
Snyder—Trans.		60	5.00
Macatawa—Trans			<b>5.</b> 00
Mercereau—Trans			5.00
Evergreen—Trans			<b>5</b> .00
Himalaya—Trans.			6.00
Lawton—Trans.			5.00
Mammoth—Trans.  Texas—Trans.			<b>5.</b> 00 <b>5.</b> 00
Wild Blackberry—Trans			4.00
Lucretia Dewberry—Trans			4.00
Cory's Thornless—Tips			6.00
GOOSEBERR	IES		<del></del>
	10	100	1000
Oregon Champion, 2 yr., No. 1	.70	$\boldsymbol{6.00}$	
Oregon Champion, 2 yr., No. 2	.60	5.00	40.00
Oregon Champion, 1 yr., No. 1	.60	5.00	40.00
Oregon Champion, 1 yr., No. 2	.50	4.00	25.00
CURRANTS			
Perfection—Cherry—F	-		
0 N- 1	10	100	1000
2 yr. No. 1 2 yr. No. 2	.70	6.00	$50.00 \\ 40.00$
2 yr. No. 2	.60	$\begin{array}{c} 5.00 \\ 5.00 \end{array}$	40.00
1 yr. No. 2	.50	4.00	25.00
GRAPES			
Can supply 1 and 3 year plants	in iin		
Concord—2 yr., No. 1		10	$\frac{100}{7.50}$
Island Belle—2 yr., No. 1			15.00
Campbell's Early—2 yr., No. 1			12.00
Worden—2 yr., No. 1		1.20	10.00
Moore's Early—2 yr., No. 1			10.00
Agawam—2 yr., No. 1			10.00
Brighton—2 yr., No. 1			10.00
Catawba—2 yr., No. 1			10.00
Niagara—2 yr., No. 1			10.00
Lucil—2 yr., No. 1			10.00
Elvira—2 yr., No. 1		1.20	$10.00 \\ 10.00$
Lindley—2 yr., No. 1 Delaware—2 yr., No. 1			10.00 $11.00$
Hubbard—2 yr., No. 1			10.00
Caso—2 yr., No. 1		1.75	15.00
ASPARAGUS		-	
Palmetto, Giant Washington, N		Washin	aton.
Mary Washing			<b>3</b> = 1 - 1,
<b>,</b>		100	1000
2 year			6.00
1 year			5.00
RHUBARB—CROWN	DIVIS	ION	
	10	100	1000
	.60	4.00	30.00
Strawberry	.70	5.00	45.00
Crowns, 100	Н		. 3.50
O10 WHO, 100			. ა.ა∪